R4 i ILER  No.4l

&5THART @ 10/27~11/1

b=yv] REN K#mAH - % faig KiBE(kg) | T {m5

INEERHEMRE R PSEVEH 10/28,11/1 41U hH 441 347
=FHL~ 242 110

RILAAH 147 571

ALY 63 2,421

+77>2 56 822

INBYERA SR 10/27,28,31,11/1 4|F59 4 171 -
b3S X () 99 -

RORD 68 -

BEERE UE 10/27,28,31,11/1 16| 5 A (fF) 90 1,599
ESAGE) 24 2,373

1tIk 75 5,621

Wb E= H[PAERVER 10/27,28,31,11/1 15| HLA 615 198
S A () 560 1,199

ESX(CE) 7 1,734

FHA 482 218

HhFHHz= 394 60

X7Fd 301 1,790

OoF 291 170

X7 274 153

TROARD 120 986

FHARX 115 1,349

XALA 109 496

Nt 102 918

X3dALA 98 756

>aobd+a2I0 85 314

I hOSA 81 307

YFFLSHLA 77 982

UAH 63 483

INRUEOZEHE 10/27,28,31,11/1 50(F45 2,504 165
ES X (fF) 1,138 1,065

ESX(E) 471 1,343

>3o94170 851 223

N7 835 96

>OoF 673 169

L3HLA 643 248

bl s 587 80

AAFHLA 466 385

Nt 454 796

RORD 331 777

oS4 217 286

JaALA 167 791

I7FT 161 1,788

FHARA 136 1,419

YFHFELSHALA 130 924

YUAH 76 487

+77>2 63 673

THLY 63 3,028

fRUEM 10/28,11/1 85X 389 769
BEERE U 10/27,28,31,11/1 70| ES X&) 426 1,973
ES X () 38 726

AXF 231 509

HY= 227 1,935

inad 128 499

R 105 1,064

1tIk 73 3,432

#b 10/27,28,31,11/1 84| LS A(E) 1,346 2,179
ES X (fF) 23 1,095

AXF 82 908

JU 65 505

BIF=iA 10/28,10/31,11/1 S5|/RyFHA 1,261 508
SAEMNS 10/28,31,11/1 3|43 29 2,408
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R4 i ILER  No.4l

SETHARS @ 10/27~11/1

i REEES X#%=AR EE - 1% &g KkiEE(kg) | FIBE £

B W EMNESEUEHE 10/27,28,31,11/1 86|17 +¥45 1 29,291 635
7> 8,911 670

H)\48 7,995 40

FHA 7,130 242

£ A (#) 5,318 888

ESXA(GE) 153 1,364

ZILAAH 5,040 851

TS 3,121 81

<A 2,692 609

LHLA 2,153 119

AL ] 2,021 569

HhFHS 1,989 24

FAALY 1,715 398

TVAVPAF% 1,575 133

< hOFA 1,371 121

IALA 1,244 599

JHLA 1,160 901

AAFHLA 1,104 723

VFELSHLA 997 1,029

AAHBYT 901 548

=FHLA 780 295

O0F 752 165

IS 702 229

THZ 410 1,934

FHALY 384 4,379

=X41 367 872

BFIA 366 389

<IALA 360 603

JEHRNR 251 176

AFA 238 157

a9 I5 213 305

FF<0 198 1,511

HH=HA 175 42

FHAYR 169 1,023

R RI5S 167 43

S5 MIF A 161 706

VI)\F 159 81

AU EHE 10/28,31,11/1 107[>5X 9,997 1,541
EEX = Ui 10/28,11/1 77| AXF 1,334 792
ESAGE) 1,223 1,566

£ A (#) 115 896

BFIA 664 2,304

Ju 552 63

HY= 273 1,237

Ho35 161 1,485

H)\4E 160 140

HhFHS 154 44

<A 146 870

=~ 132 296

RORD 79 886

2% 70 868

<3IF 61 904

8D 11/1 30(|ESX(E) 262 1,700
S A (%) 1 1,392

JU 80 131

SAFRIEZ D 10/28,11/1 40|20 1,042 3,816
BFT=4 10/28,11/1 12|[/RyFHA 3,776 437
SAENT 10/28,11/1 253 1,365 1,718
EXTVYRS 615 208
FEHNT 10/28,11/1 2[~7+d 42 -
Ui 10/28,11/1 9| XX+ 655 594
HO3 101 1,272
EEHE 10/28,31 2[R+ 109 -
ESXA(E) 25 -
B (AR) 19 -
Yo (AX) 6 -







